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Sub-Section Id : 873265216
Question Shuffling Allowed : No

Question Id : 8732655437 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

1-5 Questions : Read the following passage and answer the
questions that follow :

Our present idea about the motion of bodies dates back to Galileo
and Newton. Before that people believed in Aristotle, who said that the
natural state of a body was to be at rest and that it moved only if driven
by a force or impulse. It followed that a heavy body should fall faster
than a lighter one. because it would have a greater pull towards the
earth.

The Aristotelian tradition also held that one could work out all the
laws that govern the universe by pure thought: it was not necessary to
check by observation. So no one until Galileo bothered to see whether
bodies of different weight did in fact fall at different speeds. It 1s said
that Galileo demonstrated that Aristotle’s beliet was false by dropping
weights from the leaning tower of Pisa. The story is almost certainly
untrue, but Galileo did do something equivalent: he rolled balls of
different weights down a smooth slope. The situation is similar to that of
heavy bodies falling vertically. but it is easier to observe because the
speeds are smaller. Galileo’s measurements indicated that each body
increased its speed at the same rate. no matter what its weight. For
example. if you let go off a ball on a slope that drops by one meter for
every ten meters you go along. the ball will be travelling down the slope
at a speed of about one meter per second after one second. two meters
per second after two seconds. and so on, however heavy the ball. Of
course a lead weight would fall faster than a feather. but that is only
because a feather is slowed down by air resistance. If one drops two
bodies that don’t have much air resistance. such as two different lead
weights. they fall at the same rate.

Sub questions

Question Number : 1 Question Id : 8732655438 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Our preset 1dea of motion dates back to ?
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Options :

Aristotle

1. ®

, » Plato

Copernicus
3%

Galileo
o

Question Number : 2 Question Id : 8732655439 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to the Aristotelian tradition the laws of the universe can be
understood by i

Options :
Logic
1. ®

Thought
2.¥

Faith

3. ®

Observation
4. %

Question Number : 3 Question Id : 8732655440 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following falls down faster?

Options :

about:blank 3/96
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Feather
1. %

, » Ball

Nothing

3. %

Lead

4.

Question Number : 4 Question Id : 8732655441 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the word in the passage which means ‘opposition’?
Options :

Logic
H L
Thought

Faith

3. %

L Resistance

Question Number : 5 Question Id : 8732655442 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the antonym for ‘equivalent’ in the passage
Options :

Identical

about:blank 4/96
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Similar
2. %

Different
3. ¢

. Opposite

4.

Sub-Section Number : 2
Sub-Section Id : 873265217
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 8732655443 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The match by the time we reached the stadmum.

Options :

had started
1. ¢

was starting

2. %

would have started
3. %

started
4, ®

Question Number : 7 Question Id : 8732655444 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
My mobile phone is stolen (Choose the correct Active Voice)
Options :

Some steals my mobile phone.
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Someone has stolen my mobile phone

2.

A thief has stolen my mobile phone
3. %

My mobile phone is stolen by someone.
4. ®

Question Number : 8 Question Id : 8732655445 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
I said to my friend “Stop smoking” (Choose the correct Indirect Speech)

Options :

I ordered my friend that he should stop smoking

1%
I advised my friend to stop smoking
2.
I told my friend that smoking 1s injurious to health
3%
I requested my friend not to smoke
4. %

Question Number : 9 Question Id : 8732655446 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

She was ignorant. She admitted 1t. (Combine these two sentences into
one Simple Sentence)

Options :

She was ignorant but he admitted it
1. ®

about:blank
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Being ignorant, she admutted 1t

2. %

Despite her ignorance, she admitted it
3. %

She admitted her ignorance
4. ¢

Question Number : 10 Question Id : 8732655447 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the correct sentence among the following :

Options :

One of the boys are making lot of noise in the class.

1. ®
Furnitures are properly arranged in the hall.
2. %
He 1s too weak to walk
3. ¢
I could not be able to get through the examination mspite of my
hard work.
4, %

Question Number : 11 Question Id : 8732655448 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the appropriate preposition:

She has got lovely gold bangles her arm

Options :

about:blank 7196
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mn
1. %
by
2. % B
on
3. ¢
at
4. %

Question Number : 12 Question Id : 8732655449 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Identify the tense in the following sentence:
How long have you been reading that book?
Options :
Past simple

1. %

Present continuous

Past continuous

Present perfect continuous
4.9

Question Number : 13 Question Id : 8732655450 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct spelling:

Options :

about:blank 8/96
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Playwright
1. ¥

Playright
2. %

Playwrite
3. %

Playerite
4. %

Question Number : 14 Question Id : 8732655451 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Transform the following Simple sentence into a Compound
sentence :

Being a vegetarian. she doesn’t eat meat.
Options :

She 1s vegetarian: she does not eat meat

1. ¢
She, a vegetarian do not eat meat.
2. %
She 1s a vegetarian, so she does not eat meat.
3. %
She 1s vegetarian. ...not eat meat.
4, ®

Question Number : 15 Question Id : 8732655452 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Turn into direct speech :

Ramya told me that she wants to go to Canada next year.
Options :

Ramya said, “T want to go to Canada next year”.

1.
Ramya says, “I want to go to Canada next year”.
2. %
Ramya said, she wishes “to go to Canada next year”.
3. %
Ramya says, “I wanted to go to Canada next year”.
4. %

Question Number : 16 Question Id : 8732655453 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What is the synonym for the word *Synonym’?
Options :

Supremacist

Opposite

2. %

Smular
R4

Infinitude

Question Number : 17 Question Id : 8732655454 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Turn into reported speech :
I am going away for a few days.
Options :

She says she 1s going away for a few days

She said she 1s going away for a few days

She said that she was going away for a few days

She said that she 1s going away for a few days

Question Number : 18 Question Id : 8732655455 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correct sentence.
Options :
Her hairs were grown

1. ®

Her hair is grown
2.¢

Her hair are grown
3. %

Her hairs are grown
4. %

Question Number : 19 Question Id : 8732655456 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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He tried to kill the snake, it went into the anthill.
Options :
mstead
] ®
for
2. %
still
3. %
however
4.9

Question Number : 20 Question Id : 8732655457 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He crossed Indian ocean twice.

Options :
the

dll

zero article

Question Number : 21 Question Id : 8732655458 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which among the following is the correct sentence?
Options :

about:blank 12/96
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Ranadhir 1s going to arrive tomorrow

1. %
Ranadhir will have arrive tomorrow
2. ®
Ranadhir will arrive tomorrow
3. ¢
Ranadhir will be arrive tomorrow
4. %

Question Number : 22 Question Id : 8732655459 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the correct sentence.
Options :

The porter insisted helping us with baggages.
I ®

The porter insisted to help us with our baggage.
2. %

. The porter insisted to cairy a baggage.
3.

L The porter insisted on helping us with our baggage.

Question Number : 23 Question Id : 8732655460 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In which sentence is the Article “an” used correctly.

Options :
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He earns an about thousand rupees a month.

Shakespeare 1s an renowned dramatist .

I had never visited an hospital before.
3. %

He has been here about an hour.
4.

Question Number : 24 Question Id : 8732655461 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the sentence in active voice.

Options :

A kite 1s bemg made by the boy.
1%

She was admired very much by him.
2. %

) English 1s spoken (by people) in many countries.
3.

v Somebody set the huts on fire.

Question Number : 25 Question Id : 8732655462 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One word Substitutes.

A thing occurring again and again for a long time

Options :

about:blank 14/96
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1 anachronism
expatriate
chronic
3.9
coincident
4, ®
General Knowledge
Section Id : 873265181
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15
Section Marks : 15
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265218
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 8732655463 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In May 2024, who was appointed as the President of GST Appellate
Tribunal?

2024 3 &° GST oo (BagdS (2288 258 VehR0oHETE?
Options :
Justice (Retd) K.G.Bala Krishnan
2J0 (88f) 8.2.20 (88

Justice Surya kant

- a%ﬁ "miﬁésﬂcg

about:blank
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Justice (Retd) Sanjaya Kumar Misra
20 (B88) So=adh %H&rE o
v B TR
Justice A.S.Bopanna
220 2.08 %58

]

Question Number : 27 Question Id : 8732655464 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The scientists discovered the deepest “Taam Ja” blue hole near which
country
RIS &3S o = ax FS H D 38 Hos® EhFrand?

Options :

Mexico

3:%355

Brazil

B2S

Peru
8=

Chile
29

Question Number : 28 Question Id : 8732655465 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which Delhi Sultan was known as “Prince of Moneyers™?
“OR) 85 HAHG)” ™ bend 288 ED%erS ABB?
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Options :

4.

Question Number : 29 Question Id : 8732655466 Question Type : MCQ Option Shuffling : No Display

Alauddin Khalji
@e;;@%s @Q

Firoz shah Tughluq
8°F ¢ £HKE

Balban
aFeQS

Muhammad bin Tugluq
Sesns HS LIS

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Gandhij1 withdrew the non-cooperation movement because of
mobd Bk Qoodss S&Erd) € s8mone DEoT.

Options :

1. ¢

about:blank

Chauri-Chaura mecident
FeToe Hodoed

Jallianwala Bagh massacre
2DADS Terarh Savsrol

Gandhi-Irwin Pact
mog-1813 oo

Poona Pact

TP w)oo
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Question Number : 30 Question Id : 8732655467 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following was not the work of Rabindranath Tagore?
& (8o 0&° 8Do|B=E oK 858 =06 28?

Options :
Gitanjali
- Azrozd
Anandmath
, v ©508HE

Ghare-Baire

,u $BF
Gora
- foe
4, %

Question Number : 31 Question Id : 8732655468 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rukmini Devi Arundale was famous dancer in
8o8)cd 3D ©8oad @ Feyos’ (©28 Somrdo?

Options :
Kuchipudi
- ErdSrd
Kathakali
- S

about:blank 18/96
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Kathak
E&E

3. %

Bharatanatyam
BSTeero
v TR

Question Number : 32 Question Id : 8732655469 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following was the highest water fall in India?
Bod 78&° r888808° A8 moardo &7

Options :
Athirampally water falls
©8T°05Y 2wardo

1. ®
Kunchikal water falls
%onEd =eardo
2.
Hebbe water falls
. >R) soarso
Jog water falls
£58 z=eardo
4. %

Question Number : 33 Question Id : 8732655470 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Seismology 1s the study of
%‘J%ﬂéﬂé 3D ofchdo 3@0&?

Options :

about:blank 19/96
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Volcanoes

at
- OH)HEE D
Cyclones
Sogroen
2. ®
Earthquakes
v r¥oaren
Tsunamis
Homrdoen
4. ®

Question Number : 34 Question Id : 8732655471 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who was the fiurst Chawrperson and Managing Director (CMD) of
Bharatiya Mahila Bank?

885 Foree wogel Ewnd) Iwky b8 BEIYS Hocke Ieoh G056
(CMD)ax:?

Options :
Usha Anantha Subramanian
&P vdod H(2AHS

1. ¢
S.M.Swathi
-
) 5)&.&)0.@358
[Leena Nair
Oz b
3. %

about:blank 20/96
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Roshini Nadar
85288 =6

Question Number : 35 Question Id : 8732655472 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Narasimhan Committee-II was appointed to recommend reforms on
$8205S o8- 11 (Bod wo¥oD D Sobmeh bEy Dbl
Robdodnb&od.

Options :

Insurance sector

L 38)3]) Solio
Poverty

) 2%8%0
GST

- RaHRS
Banking sector
agoéoh Soo

4.9

Question Number : 36 Question Id : 8732655473 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Part III of the Constitution of India deals with

Eoiclel] Uﬁaﬂar;oi“ioéﬁé‘a 11 & Dzl &9 180D BenHHod.

Options :

about:blank 21/96
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The Union and its Territory
GraHR 85w T egriio

1. ®

2.

3. %

4.

Question Number : 37 Question Id : 8732655474 Question Type : MCQ Option Shuffling : No Display

Citizenship

PS80

®

Directive Principles of State Policy

wB88 Srseen

Fundamental Rights
. (eS8 FEpen

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Who was the first Chief Election Commuissioner of India?
FEEBED & DT JoES EH’E VBB?

Options :

S.P. Sen Varma
NR.5. S K')ES@’

Sukumar Sen
20%ErE 2S

2. ¢

Kalyan Sundaram

x o5 ooddo

T. Swaminathan

&. %&:mé%

about:blank

about:blank
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Question Number : 38 Question Id : 8732655475 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the theme of International Earth Day 20247
©odTha% $o8 ast Ko 2024 Fwng) 58 HJo &?
Options :
Invest in our planet
BN B0 VB0 LIS

1. ®

Restore our earth
BREE ©55 25

Planet vs plastics
38 Vs LG
g al's]

3.¢

Protect our Species

85 w5 LS

4. %

Question Number : 39 Question Id : 8732655476 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Jim Corbett National Park was mainly the reserve of

25 ?E;:,jéf IRES 5@5& Bebor 8 wFardeago.

Options :

Lions
2osSfen

2. %

about:blank 23/96
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Rhinoceros

SR\ TP

;% T8 2
Crocodiles
0

on P

Question Number : 40 Question Id : 8732655477 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the name of the document maintained by IUCN about the rare
and endangered species of plants and animals?

©&HIR bk @oé&uaéﬁéozécl Bwégrﬂ 208a%n oo e KH8ed IUCN

about:blank

QBR=E n“é:aéaméf 2% 8?

Options :

Green List

AS 9%

. o
Red List

=

- 3& o3

Black List

)

3.8 7 e

Yellow list

D& O

Section Id :
Section Number :
Section type :

about:blank

Teaching Aptitude

873265182

3
Online

24/96
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Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10

Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265219
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 8732655478 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The role of a facilitator in classroom 1is
S888 Ko® 220806 ;E
Options :
To dictate information to students
S]wéiﬁgﬂé QR TTR aél&::ﬁcﬁo

To guide and support student learning
Derde ©LHTR8 érié&)ééﬁéo Balyfo HBaH HEH Ao

To administer tests
ééée::ﬁ: 365?.1@::5&.?&&

To discipline students
DTHBR (E8Ers® soserds

Question Number : 42 Question Id : 8732655479 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Primarily the development of child is depend on

8% derdo (rprdvéornr BANE wrrddd ebd .

Options :

about:blank 25/96
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Parents
SO0
], ®
Society
Sdreazdn
2. %
School climate
- T e oSS
Environment
v Soegdeasin

Question Number : 43 Question Id : 8732655480 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The position of the teacher in teaching learning process.
T w3SE (HBHSE® aargryeiod 28
Options :

a leader

v o ile v hi=3t b}

a dictator
. Rddod

a member

ﬁe,‘fogé:

a director
EGB

about:blank 26/96
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Question Number : 44 Question Id : 8732655481 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Effective teaching is a function of
SLogoSI0N S dprddn
Options :
Teachers satisfaction
631'?505::& ﬁcéﬁﬁ:ﬂ

Teacher’s honesty and commitment
f;‘sﬁf'qaﬂécﬁ::ﬁ Qarond 8d%n Sodeysin

2. %

Teacher’s making students learn and understand

Sﬁtpﬂéiﬁoaéﬁ @ﬁéﬁé 08w wirTY Edoihe
3. ¢ s

Teachers liking for professional excellence.

L SPEEod H3 ;::'a'a:gé 26 PR

Question Number : 45 Question Id : 8732655482 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What does the term “learning style” refer to?
S81oh .6 ©F Sdo B Wrdkes?
Options :
The speed at which students learn
SJ::;'EE%W 3&3&3 3K0

The preferred way a student learns best

- 33:5“5% adoomr 3&%3%"3 @ﬂ:ﬁsg é:ﬂ?éo

about:blank 27/96
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The number of subjects a student can learn
ot wh
. g8 5&&?5&} NZRe Jogy
The location where learning takes place.

L ©Z0 22870 (P3¥o

Question Number : 46 Question Id : 8732655483 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What does “cognitive development” focus on in the context of
education.

DES® apEE Do BID &R WoSod?
Options :
Physical growth of students
S:JE"EF)&':'_J}EI =88% adihde

1%
Emotional intelligence

) 2;?55355 33:‘.5;6.::]
Mental processes and skills like problem solving and critical
thinking.

v S0y -DoBE Hde DhGhTHE ©8°S58 Hod &Ry Jdergen
Social interaction among students.

. Dergdoe L&y PErRE DBHY S8

Question Number : 47 Question Id : 8732655484 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 28/96
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Interaction inside the classroom should generate
B85 B85 ooe SB8KE Kas®

Options :
Argument
L S50
Information
Sdroeddn
2. 8
Ideas
- e&bSten

Controversy
Daedan

Question Number : 48 Question Id : 8732655485 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which one of the following statement is correct.
& (808 (PEeds® DB $388.
Options :
Syllabus is annexure to the curriculum
- SHonh O30 éﬁﬁgoaﬂﬂﬁo oo
Curriculum 1s the same in all educational mnstitutions.
L ‘éo%a&g_oﬁéﬁ Fogodsn 2,58

2. %

curriculum mcludes both formal and informal education.

v ©§50¥, ©8es8E DEE° FEyHerdd 2.8 Frio

about:blank 29/96
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Curriculum does not mclude method of education.
DE5S° ardyBerdd KD so.

4. ®

Question Number : 49 Question Id : 8732655486 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which is the least important factor in teaching
£°E8E° A3 (Frordy S8EEm 28?7

Options :

Punishing the students

SJi:::'UégR) g8oSeo

1.¢

Maintaming discipline in the class
) 868 K68° (EH28gn FB8obwo.

2.
Lecturering in impressive way
s 5588

3. % ~
Drawing sketches and diagrams on the black board.
Sgaem JFwen, S°en Acheo

4, ®

Question Number : 50 Question Id : 8732655487 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ability to learn by an individual is
8 ol %ﬂ&g;xia: ol

Options :

Acquired by the individual

2o Boarss

1. %

about:blank 30/96
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Developed by the teacher
Sarggaind w8 a’:e)g: Bhnde

2. ®
Absorbed from environment
s
. acgéﬁea&’m :5236 (e rohen
Occurred from within
&80 oo Jo0¥DodBs
4.
Geography
Section Id : 873265183
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 35
Number of Questions to be attempted : 35
Section Marks : 35
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265220
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8732655488 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Terai regions are characterized by

Soraw (Fosren @ ofrres’ doiron?

Options :
Drained and densely forested areas between the Siwaliks and the
plains
85208 Hdukn Dorared DY Ko rddes® BeQFd ©Ld

o |Sroaeen.

about:blank 31/96
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Depositions of older alluvium in the river beds of uplands of

Himalayas
Trirodire O ($BTosi $8 FemdE Fromros® D8)EE ol
) S8 QEaren
Deposifions of new alluvium in the river beds of low lands of
Himalayas
Srdrodire éﬁéé.:g B8’ 88 Foxd (Frores® 8BS T
. 2.0 QEren.
Longitudinal flat bottomed wvalleys lying between lesser
Himalayas and Siwaliks
S5 e Srdrodired Hbckn 308 i &o8 Qen3dd 2ol
H& JSaren
4. % ==

Question Number : 52 Question Id : 8732655489 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The direction of South-West monsoonal winds in southern hemisphere
before crossing the equator in Indian Ocean 1s

Srodr S SdnBos® ooy D rESwo® &80 R ok Sed
20HIdTe BF H?
Options :
South-westerly direction
%8 &%

1. ®

South-easterly direction

v Hﬁ&dﬁ: &%

about:blank

32/96
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North-westerly direction

TP &%

; 5
North-easterly direction
Sl 8%

4. %

Question Number : 53 Question Id : 8732655490 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is incorrect in the occurrence of
inversion of temperature?
oS ) D&% (H|8cdh DoFDoHhed Ko & (Bod Tdmines® 28 SHyp?
Options :
When the earth surface uses more heat than it gains
- %0 ad88w0 od ago 408 éﬁgﬁ“é.:puéaﬁ S50 V&S wondHPE

Flow of dense cold air from hill tops to valley bottoms
Fo(BS A% 80 D Fodk grifo Kol SchE’d SIS

2. %
When cold and air masses come together
} Ede ek oo Lobcke adTedin oo8 EDRBYpE
3.
Advection of cold air over a warm surface
. 38 ad8dvo D 80 D (HB80DSHPE
4. %

Question Number : 54 Question Id : 8732655491 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Tides are driven by
SPen Srtnw B Hod DB yEsron?

about:blank 33/96



6/13/24, 11:25 AM about:blank
Options :

Gravitational force of the moon
S0l Bw¥) HodvarEtes ¥4

Gravitational force of the sun
S8yl S KodoaEdes ¥4

2. %

Gravitational force of the moon and sun
v SolEo bk eyl @) HtiaeEts ¥

Ditference mn the water density
58 mEsE5D %E‘é‘}a‘ﬂ Hod

Question Number : 55 Question Id : 8732655492 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Plantation crop cultivation is mainly associated with
S dotoe Fik Sogsnre ) ([Fomrod Donododds?
Options :
Equatorial regions
. oty Ogr ([Frodsin
Tropical and sub-tropical regions

- 050y Hbake &b ©chd Bgr (Froaren

Temperate regions
ﬁ&%&sg oo (Froaren

about:blank 34/96



6/13/24, 11:25 AM about:blank
Polar and sub-polar regions
5 Bk adGS (@Frosren
4. %

Question Number : 56 Question Id : 8732655493 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following countries is the largest textile exporter in the
world?
(BDoB08° O B¥o b HFod NS Bod?
Options :
India
| D&
Bangladesh
2OITPBS

Germany

m?ﬁg’f}

China

B°
4.

Question Number : 57 Question Id : 8732655494 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The clouds extending high into the sky in the form of towers or anvil
shaped tops which can produce hail, thunder and lightning are called as
wzrdos® orer QI TR Thow, Fohore 8rdost md 88 =%d S8
o ook $OAK Srdos® MR dod, HEKHK, adino Ko

oD 336363 Dodreodn Qdhotrds?

Options :
about:blank 35/96
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Cirrocumulus
SIS
|, %
Nimbostratus
ﬁoéﬁ@bﬁ

Cumulonimbus
é:gé:;éﬁﬂjoaﬁ
3. %
Altostratus
-
@%L@E&@

4. %

Question Number : 58 Question Id : 8732655495 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Eskimos of Alaska and across the Arcitic are currently known as
werar) $H0ckn sHAE [Frododir sot Fred (Higo D Deoirdd?

Options :
Himbas

Seorn

Maasai
Soarow

2. %

Inuits
z87eres:
. R

about:blank
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Zulus

oeeTeR

Question Number : 59 Question Id : 8732655496 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Population growth will always tend to outrun the food supply — is the
main idea of one of the following theories.

‘e §)B IGpLr eI SEHorer od DB Foew S0ty SrHdod” O3
Sogy 08 85 $0A aoa RdErodo &?
Options :
Malthusian theory

Srerdchd SLorodo
1. ¢ i s

Cannon’s Optimum population theory
°8Q) 2T TobdsH 3::‘5::6::

2. ®

Demographic transition theory

2Py DORYR ?a:goéo

Sadler’s theory of population
&0y 2y h%oéc

Question Number : 60 Question Id : 8732655497 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Geostationary satellites will be placed above a point on the equator from
the earth’s surface at an altitude of

5 aH8do0 Kol g Tpd P (HBErAcD & %Ségéé% Sd|SFen dod
DHE® doeron?

about:blank 37/96
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Options :
360.000 km
360.000 8.5
1. %
36.000 km
36.000 &.%
2.9
3.600 km
3.600 8.5
3. %
360 km
- 3608.%
4, %

Question Number : 61 Question Id : 8732655498 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to Koppen'’s system polar climates are designated as
> VLY
S SR (B5°80 HE TE e s K)é%ci‘.ﬁaﬁaﬂom.

Options :

Question Number : 62 Question Id : 8732655499 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

about:blank 38/96
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Correct Marks : 1 Wrong Marks : 0

When was the first complete census conducted in India?
88508t Fnkd 78 arge el DJpEd 28Ach?

Options :

1872

1881
1891

1901

Question Number : 63 Question Id : 8732655500 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Weber 1s a economist
326 2.8 so¥ 3.
1 A 0
Options :
Russian

Baxs

1. %

Ameriacan
©308%

German

v 28)S

about:blank 39/96
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French

FoD

Question Number : 64 Question Id : 8732655501 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Father of modern Economic Geography 1s
B ©¥ FHRYE TR0 doeddok.

Options :
Murphy

e 8
Jones
£5

2% 2
Chisholm
5385

3.
Perroux
oeR

4, %

Question Number : 65 Question Id : 8732655502 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What percentage of the Indian population lived in urban areas according
to the 2011 census.

2011 257z° S¥)o (Sedsn 8858 s’ dod 8o Hod S&es [Eroae&®
QTN ?

Options :

about:blank 40/96
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25.26

31.16

fad
'..)'l
=S
Tl

40.27

Question Number : 66 Question Id : 8732655503 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which 1s the largest salt water lake in India?
88 BEos® o8 28 a5pd8 8% 26?
Options :
Dal lake

S B8

Chilka lake
DOz I8

Vembanad lake
SoaeE D8

Sambhar lake
~Pozrd (8%

4.4

Question Number : 67 Question Id : 8732655504 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 41/96
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Who 1s the father of GIS?
GIS SHarddud Q58?7

Options :
Roger
85225

1. %
Tomlin
¢S

2. % o

Roger F. Tomlinson

6°25.0%. e S3S

3.
George Tomline

28 &S
4.%

Question Number : 68 Question Id : 8732655505 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the percentage share of land of India in the world.
BH0F grgrrod® r888E grarl T80 Jod?

Options :

2.2
1.«

about:blank
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Question Number : 69 Question Id : 8732655506 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following rivers 1s not a tributary of Krishna river?
& (B0 B&ood® 08 §irkas alke w&?

Options :
Vama
ST°

1. % e
Yerla

TP

2. % i
Ib

o B8
Mus1
SR

4, %

Question Number : 70 Question Id : 8732655507 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Isonifs are the lines joining the equal values of
‘0RfR) O Do & 35 Do ZeodHoron :
Options :

Cloudimess

33‘!&‘5&6::
1. %

Sunshine
. “ﬂdﬁiﬁéiﬁ'ﬁé

about:blank 43/96
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Rainfall
SEardo

3. ®

Snowfall
Sdoardo

4.

Question Number : 71 Question Id : 8732655508 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s by far the most important agent of erosion?
& (Bod 8 FosfE% Honocdod @éar'}oé DR 885D 28?

Options :

Running water

- @’:é%:ﬂoé D%
Wind

- S50
Glacier
drsEo

3, %
Sea weaves

L [ao|By SBorren

Question Number : 72 Question Id : 8732655509 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s the average temperature of sea at the equator?
55085 B 3G Sl addde Shen aPHS dod?

Options :

about:blank 44/96
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267

24°C

216

3. ¢

28 %

Question Number : 73 Question Id : 8732655510 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following countries has the highest population density?
& (808 BTos® 08 vEeE udToESH S0A &)B?
Options :
Bangladesh

moﬁ'ﬁ;ég

India
88840

South Korea

, » OB Fodr
Hongkong
SFohzroh

4.9

Question Number : 74 Question Id : 8732655511 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 45/96
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Who proposed Least cost theory of industrial location?
“Dy =% moB(R5S” drrodind NS [Bsardomd?

Options :
Losch
-
1. # g
Weber

) I26

Wegenar

Benger
Zoz=b

4, ®

Question Number : 75 Question Id : 8732655512 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following countries is the chief importer of tea?
& (Bod Bwed® aird [Pord aHHa b 28?7

Options :
Russia

1. ¢ 5&‘5

USA

2'ﬁﬁ§&53=&@ﬁh§tﬁggﬂ:
Canada
Efnl~

3. %

about:blank
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China

[
4.%

Question Number : 76 Question Id : 8732655513 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Remote sensing satellites are mainly meant for
2ErS (P aditon (Bredorr SR8 Ko aB80R8.

Options :

Obtaining earth’s surface data
e adsde Sdrordo Sroftod

1. ¢

Obtaining communication data
SErael Sarodtnd Srot

2. ®

Obtaining weather data
T8 SerodEnlh Srothe

3. ®

Obtaming location data
a8 Sorodind Poed

Question Number : 77 Question Id : 8732655514 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The average age of the earth 1s
2750 cﬁ:ﬁé& KlopClo o tren)) LoBn&Bsmen.
Options :

6,000 m.y
6.000 dcHS

1. ®

about:blank 47/96
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4,500 m.y

4,500 0dcHS
2.¢

3,000 m.y

% 3,000 2058

1,000 m.y
1,000 00cH_

4. %

Question Number : 78 Question Id : 8732655515 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Cloudy nights are warmer than clear nights because of
Aol orde 8 3:{::*5@6@5 ooHes’ &M LT SodTs Ko
t=pletatNew

Options :

Depletion of ozone layer

5,8°5 eddeadn S8 sl

1. #
Insolation
S Heodw
2. % 2
Green House effect
- 588 ) (Haresisio
Terrestrial radiation
2Rt D88easdn
4, %

Question Number : 79 Question Id : 8732655516 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

about:blank 48/96
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Correct Marks : 1 Wrong Marks : 0

The ratio between total population and total cultivated area 1s called

Soodin ey 080k s i Do |Froare a’::qié o YHEJ
e HeodadHd.

Options :

Physiological density

- HRcher2ES FrolBS
Arithmetic density
wodKBS oSS

2. %

Agricultural density

. Sedch FrolBS
Gross cropped density
Sre Hoty aroldd

'

Question Number : 80 Question Id : 8732655517 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In India human population has higher number of younger age group
because of

EETEDH avrers’ ©gsknm it Sk T sokmedE Ko Tlmiwe

Options :
Short life span and high birth rate
v ey £58 (Birndn H8n ©5¥ =8t

about:blank 49/96
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Long lifespan and low birth rate
, x ©58 E5B (Do H0dko S =8kt

Short lifespan and low birth rate
ey A58 (Hlrndn ok SE% 2258080

Birth rate 1s equal to death rate
25800 @ Hbn Dtnd JErddnmr e d.

4. %

Question Number : 81 Question Id : 8732655518 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Administrative regions are generally accepted as planning regions
because.
Pirdorr H8ared Hoderod (Herdse Dolerarr SRrboSeRE s8msn
Options :
It 1s a formal region
28 2.8 Nird ofesn

It 1s a functional region
36 ([EHESD Hododm

2. %
Plan formulation and implementation need administrative
machinery

v (Besr8 Erddeads Hodn vildnodh Sdares cholgroriin ©Ndm
Work force is easily available
(m°0¥ 48 DenHre wotartns® sodio.

4 %
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Question Number : 82 Question Id : 8732655519 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Earthquakes along the Himalayas and the foot hills are best explained in
terms of

Srdreodires 8 -8 8 Smre Iond Frdore KT8 Ko
Ered DH8oHR®.

Options :

Young age of Himalayas
S B¥ Prodire

Plate tectonics
oré Hede DEFIEE5TeD

Fragile and unconsolidated rocks
Hend odakw @qﬂe}&aﬁ‘é foen

Divergence of plates

©D D8 o8 Deden

Question Number : 83 Question Id : 8732655520 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The first cotton mill of India was established at
8E BED Fndd e ey VB @;3:053:&5&?
Options :
Mumbai

000w
] ®

about:blank 51/96
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Ahmedabad
Tt

Kolkata
SEEG

3.¢

Boroda

28%%

4. %

Question Number : 84 Question Id : 8732655521 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The first detailed map of India was prepared by
08B rBERE DTS SEn SAird ks ASB?
Options :
De.Anvilla
&. ©328

Eratoshtenese
Emsesﬁéaﬁ

Ptolemy
eresd

James Rennel
éE:;j 3

4.

Question Number : 85 Question Id : 8732655522 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 52/96
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If the tilt angle is less than 3° the air photograph is known as
dond P&’ 8% Hrid &lfo Bedn Sam SEEne aS® ©

wotrdn.

Options :

Oblique photograph
wiEsnd PEIED

Vertical photograph

&s8s PSS

Ortho photograph
o8 PP

Trimetrogon photograph

BIES TS

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 86 Question Id : 8732655523 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

about:blank

History

873265184
5

Online
Mandatory
30

30

30

0

1
873265221
Yes
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In which Indus valley sites , the famous “first street” was excavated?
D dodrs’ch garsd ©Rg Bodd “Fosd 08" S5Bo BabnsRa?

Options :
Harappa
. eBary
Mohenjodaro
Snrofors®
2.
Lothal
3. % il
Kalibangan
D208
4. %

Question Number : 87 Question Id : 8732655524 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

During the Rigvedic period, the Aryans worshipped the following deity,
who was equuvalent to the Greek deity Dyauspiter.

2N SPeos® wdye, (% B85S oF &rRhedd JErE8 Bod THE%
208,

Options :

Ushas

6&"&:{3
] ®

Prithvi

. D8

2.

about:blank 54/96



6/13/24, 11:25 AM about:blank

Indra
ol&d
3, % -
Dvaus
CS:EE
4, &

Question Number : 88 Question Id : 8732655525 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

During the later vedic period. the duty of Bagadugha was
5HOTE0KE’ plHH T DO

Options :

Collection of Taxes
é&&w Sdoren Dodwed

1. ¢
Treasurer
- Sazes
Courier
) g8a%h5
3. %
Military General
L % pTpesed

Question Number : 89 Question Id : 8732655526 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The three-fold path (Tr1 Ratnas) in Jamism was proposed by
BhZos® @ird (B8ane) & (Baaracisa.
Options :

about:blank 55/96
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Rishabhanatha
20RTY

Parsvanatha
&6&53%5

Mahavira
L0558

Bhadrabahu
2L

Question Number : 90 Question Id : 8732655527 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

From which of the following pillars of Asoka, “Lion Capital”, the
emblem of Indian Government was adopted?

Bod FAE° D v&%R Qogfo Koo& P8HBa%H oo DD “B88 26
ﬁ:&é&ci‘.ﬁm&é&:?

Options :
Vaisali
ITD

Allahabad
wolted

Sanchi
Fod)

about:blank 56/96
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Saranath
v iletil-

Question Number : 91 Question Id : 8732655528 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following was not the work of Asvaghosha?
Bod TAE° Thd ©EITHI BBK =?
Options :
Mahavibhasha sastra
v 0P DFPRT(R

Buddha Charita

a0 X84

2. # [w]
Soundaranandanam

- Poddboddsdn
Sariputra Prakaranam
2085|8580

4, %

Question Number : 92 Question Id : 8732655529 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following was not a Tamil work.
Bod RS Ghd S¥ 858 =ok?

Options :
Silappadikaram
BodHHdsEm

about:blank 57/96
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Manimekhalai
- aiaa%ﬁ;s,:@
Nitivakyamrita
» Qarseind
Tolakkappiyam
E"aé&_ﬁ:dﬁa&
4, %

Question Number : 93 Question Id : 8732655530 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the satavahana period. which 1s the important port in the west coast?
STt roodh 2% 88080 @'J?:ga B08¥ BD é%e&éﬁwcﬂ:&?

Options :
Mysolia
SRBDhH

1. ®

Kodura
231!

2. %

Tamralipti

Lo TR

Sopara
W RS

Question Number : 94 Question Id : 8732655531 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 58/96
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Which Pallava ruler introduced the construction of Rock-cut Temples?
Ko2rroch Jo9erR) (BIEER JeloEsd?
Options :
Simhavishnu
. SEECEVESy
Mahendravarma I
Bndd Farold H8)

2.
Narasimhavarma [
3088 552:&::%:5&
3. %
Mahendravama II
Bos a’;:ﬁsnc:@ﬁéiﬁé
4 %

Question Number : 95 Question Id : 8732655532 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to R.S. Sharma, the feudalism in India was started during
which of the following dynasty.

©8.ahR.¥8) o Frhdns® risdges® Foraegsioy 5% (Bod '5:6"@5& o)
Hoddbne eos’® Ins8Ee?
Options :
The Kushans
. Boareaoen
The Guptas

L v e

about:blank 59/96
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The Rajputs
Trezay(goen
3. %
The Satavahanas
, FATordoen

Question Number : 96 Question Id : 8732655533 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s the meaning of “Perumakkal” in the local self government of
the Cholas?

SPehe Bn¥) P8 $HBaress’ “VHNES” Fnk) ©kn D?
@ @
Options :

The wards 1n the village
(rSes’ e

1. ®
The lottery system
or0d HEa
2. ® &
The members of the village assembly
ad v
v (P03 Sggen
Name of the village assembly
(rds Gy 2
4, ®

Question Number : 97 Question Id : 8732655534 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 60/96
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Where did Ganapati deva i1ssue an inscription ensuring the security to

the foreign traders?

D88 S50 Shnd vEcho BOKr Hrdd BH THEIIAKE JS?

Options :
Bhattiprolu
1. % ﬁ%@ﬁm
Bayyaram
- adsrgdo
Malkapuram
- é:e‘g@ﬁo
Motupalli
SoeenHY
4. -

Question Number : 98 Question Id : 8732655535 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following work was written by Amir Khusro?
Bod 708° ©&rs e T8 (Kodha?

Options :

1.

2.¢

Tarikh-1-firozshahi

&8 - m - H8°Eapse

Tughlaq nama
L8 e

about:blank

about:blank
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Putu-us-saladin
HH-ah-der83
Tabaqat-1-Nasir1
Snda-5-r28

4. %

Question Number : 99 Question Id : 8732655536 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who among the following was not the devotee of Krishna?
Bod z8&° Q5% Hn FEH =G.

Options :

Vallabhacharya

égaﬁi}“tﬁgw

Mirabai

) % SITTCEPOD

Ramananda
orarrdod

3.¢

Chaitanya

B

4. ®

Question Number : 100 Question Id : 8732655537 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Abdur Razzak visited Vijayanagara Kingdom during the region of the
tollowing.
Bod 258 aro ewos® ©20888 Db oremgR 880D,

about:blank 62/96
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Options :

Harthara —1

. S0d8 FBHBE
1.
Devaraya — I
- 308 Bdoeaioe
Devaraya — II
Bo&d Bdoechen
3.
Krishana Deva Raya
L éagéa’icﬂcﬁ:w

Question Number : 101 Question Id : 8732655538 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which Mugal ruler introduced mansabdari system?
Soy5erd SE8R BEE2EE oo FodaNd?

Options :
Akbar
L OB
Shajahan
=)
2. %
Jahangir
250A%
3. %

about:blank 63/96
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Aurangazeb
DEoKEaw

4. %

Question Number : 102 Question Id : 8732655539 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Who introduced the permanent land revenue system?
ThE e 8 SEBR (HSE1EEBSK?
Options :
Lord Wellsley

o8 3R

Lord William Bentink
E‘F‘E DOHS: BodoE

2. %
Lord Cornwallis
o5 =85 0D

3. ¢ G
Lord Dalhousie
erd E8°%

4% G ol

Question Number : 103 Question Id : 8732655540 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The year. in which the General-Enlistment Act was passed.
& JodEBos® 288S ARHHod gy 0 TchasKa?

Options :

1855

1. ®

about:blank 64/96
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1858
2. %

1857
3. %

1856
4.

Question Number : 104 Question Id : 8732655541 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“Go back to the Vedas” was the slogan of the following organization.
“6° 28 o oo (Fered Hdeocd) o3 dTedo [Boddd SogsH IoaKa.

Options :

Brahma Sama;j

- GRS
Arya Samaj

- BYdares0
Theosophical Society

L. BSTRES T8
Ramakrishna Mission
SRR

4, % e e

Question Number : 105 Question Id : 8732655542 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 65/96
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Match the following incidents with the years they took place.

a) Jallian walabagh massacre 1) 1946
b) Chirala-Perala Satyagraha 1) 1919
¢) Gandhi-Irwin Pact 1) 1921
d) Direct Action Day 1v) 1931
BoB Jodotdeln, ©b 28A SoBEBines® dithshin.
a) 20%8 srerarh $8do i) 1946
b) doce-ore Sagiisro 1) 1919
¢) mod-a83s adoso 1) 1921
d) (@88 S8 ado iv) 1931
Options :

a-1, b-u1., c-1v. d-1

1.v

a-1n, b-i1, c-1, d-1v
2. %

a-111, b-11, c-1v, d-1
3. %

a-1. b-11. c¢-111. d-1v
4, ®

Question Number : 106 Question Id : 8732655543 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who was the author of “Yayati charitra’?
‘Bocirs S8 Bw¥) Blond JLL?

Options :
Kandukur: Rudra Kavi
| % BokoErd H|EED

about:blank 66/96
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4. ¢

Question Number : 107 Question Id : 8732655544 Question Type : MCQ Option Shuffling : No Display

Addanki Gangadhara Kavi
©Fod Horrds ¥

Mariganti Singaracharyulu
0808 Dororartyen

Ponneganti Telaganaryudu
P08 SorTt

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In which vear the Battle of Padmanabham took place.
a’:eséav;;:’ dﬁwéa 28A% ﬁcéé&ﬁfn&?

Options :

1.«

Question Number : 108 Question Id : 8732655545 Question Type : MCQ Option Shuffling : No Display

1794

1795

1894

1895

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Who introduced the Ryotwari System in the ceded districts?

about:blank

S8hokers’ Do 580 BISEEE 5%?

about:blank

67/96
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Options :

Captain Reed
225 &8
1. # [5)
Thomas Munro
y oo ISP

Sir Arthur Cotton

36 86 =8
3. % @

C.P.Brown
2.2.1F%

4. %

Question Number : 109 Question Id : 8732655546 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The first widow remarriage i Andhra has taken place on which of the
tollowing date?
Bod &b ao8gnd woprs® Dok DBCyTEED 2BARGR?
Options :
11™ December, 1881

1881, &oadh 11
1. ¥

11™ December, 1781
1781, &ond 11

26™ January, 1881

1881, X586 26

about:blank 68/96
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26® January, 1781

1781, =258 26
4. %

Question Number : 110 Question Id : 8732655547 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who was the secretary for the Home Rule League in Andhra region.
S0 (Frodos® FEHErS R Bwd) 588 BoBK?

Options :
Konda Venkatappaiah
o 30%&:&3@5

| %
Pattabhi Sitaramaiah
wt
- Serd dErTednady
Gadicherla Har1 Sarvothama Rao
w
- m&38 éﬂ&a&ﬁﬁﬁuﬂ@
Tangutur1 Prakasam
. Loiherd (Hs¥o
4,

Question Number : 111 Question Id : 8732655548 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following was not associated in the formation of Andhra
State in 1953.

19538° @0 ToFH oo (Bod RS D& JowodoSEn?

Options :

about:blank 69/96
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Thar commission

- o5 E53S

J.V.P. Report

2.0.2.038%
2. %

Report of Kailasanath Vanchu.
. Beordard o AZ8E

Fazal A1 Commission.

Lo Su6 ob E&aS

Question Number : 112 Question Id : 8732655549 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In which year the Ottoman Turks captured Constantmople?
5.60508 &80 & éo&’:é{aéoéﬁ ?5%0555@5

Options :
A.D. 1451
o Eudn 1451
A.D. 1543
Eudn 1543
2. %
A.D. 1453
Eu¥n 1453
3.¢
A.D. 1343
Eu¥n 1343
4 %

about:blank 70/96
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Question Number : 113 Question Id : 8732655550 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Who was the ruler of England at the time of the Glorious Revolution?
A00hS BXergiS o) momrod Foband?

Options :

James-1
Soié EED{:]

Charles-I
3088 0%

Charles-II

Bo¥sd T8
3. % ~

James-II

Bo&dH éE:J
4.

Question Number : 114 Question Id : 8732655551 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who was the author of “Spirit of Laws™?
“N0E 8D R BSond JHK?

Options :
Montesquieu
éPcEK::“@

1. v
Voltaire
&8 6

2. % il

about:blank 71/96
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Rousseau
oSt
3, %
J.S. Mill
2.050. S
4, %

Question Number : 115 Question Id : 8732655552 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who will elect the Judges of International court of Justice (I.C.J)/
2oLRRSS 8 ©F 23T (@.2.2) Bnd) 2ol AE kYHoErsd?

%]
Options :
Security council and UNESCO
FBaedoord badn c5n3RF)

1. ®
General Assembly, and the Economic and Social Council.
- el D Hbakn SRR Ry Hokd.
The Secretariat and General Assembly
2EBBHES Hobakn s D8
3. %
General Assembly and Security Council
Ly ey Hddin H|Earhosd
Civics
Section Id : 873265185
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15

about:blank 72/96
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about:blank
Section Marks : 15
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265222
Question Shuffling Allowed : Yes

Question Number : 116 Question Id : 8732655553 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Traditional approach emphasizes on :
FolBmrah 3pd VR AR Fok0b.

Options :
Precision
- q:ﬁbééséw
Reality
TIDES
2. %
Values
Denden
3. %
Objectivity

|, e

Question Number : 117 Question Id : 8732655554 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following word is associated with the terms “Lassez-
faire™?

Ho&d 28 ‘BIyDpo0s’ O3 IB8E0E° JoncdodBa?

Options :

about:blank 73/96



6/13/24, 11:25 AM about:blank

Communism
1.* éa’m;&aé::
Federalism
2EB8D2:=50
2. %
Fascism
- 22z
Liberalism
aTdrdam
4.

about:blank 74/96
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Question Number : 118 Question Id : 8732655555 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘Organic theory of State” 1s associated with.
Toaggain o) ©orrons JTTodsn DG (PSrBomE?
Options :
Auguste compte

XD BP0
(5] [Ce]

Herbert Spencer

- ?;Pgeag A\
T.H.Green

: 8.2»5. 1A%
Hegel
Foh o]

4, %

Question Number : 119 Question Id : 8732655556 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A Democratic government is elected by
(Semargig (H358n 0%63 AkyBntsos?

Options :
People
1. % i
Ministers
- soo|(goen

about:blank 75/96
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Voters
SPeotsy
3.
Political Parties
orasdab &éw
4, %

Question Number : 120 Question Id : 8732655557 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The act of 1909 was associated with.
1909 S &8 JomofodKs.
Options :
Introduction of Separate Electorate. (Communal Electorate).
08 Jomoye @’Jégé NEBrasE DT°0 Do),

1.
Decentralization
DEo|B88es

2. %

Dyarchy

. 50085 (530e8as50
Legislative councils

 3E5oEd

4, %

Question Number : 121 Question Id : 8732655558 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 76/96
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Who stated that “every action 1s designed imterns of the end which it
seeks to achieve?
“B88Y; eI P08 wkibaon Srgrodod 2ED” O
T &?
Options :
John Locke
o o8

1. #

J.J. Rousseau

2. 2. 8788
2. %
Machiavelli
» SR
Karl Marx
=555) )
4 %

Question Number : 122 Question Id : 8732655559 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The subject of 97™ amendment of India constitution was
Zeilet] E“a..’“goﬁ pChetetac) vﬁ%ga’m 975 H580m B8 Honocdodbs.

Options :

Extension of reservation for SC’s & STs.
RS Booreo bR &S 8Ko 6&35&5 EirAodS Jonoboddd

Exchange of enclaves between India and Bangladesh
FEEREL0 Hbkn porran Be Dy irrrre $rg)d

about:blank 77/96
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Establishment of National Commission for scheduled Tribes
&S Ko erBah EWAS dovy.

Co-operative societies

L HeFEEd HosTeen.

Question Number : 123 Question Id : 8732655560 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which one of the following 1s not a key feature of parliamentary form of
government?

Bod TE° DB FBowd SESE (HaHa708 Jo20dodd 8o¥ woddn b.
Options :
One Executive head
L ¥ TERTNFE ©H1S
Absence of fixed term
K)éé' H8Y rodn SESBSHES®

Collective responsibility
sdns g

Fusion of Executive and Legislative power.
SPEEROETE hOdin TR whTTRY Soond

Question Number : 124 Question Id : 8732655561 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 78/96
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Which of the following 1s not one of the three kinds of minority rights
identified by Kymlicka

Bod Q&8 Epse '5:5"&26& 3 e o) ﬁcq?ar'}q: a':tsga? B’J"'é:&_ﬂa =R8.
Options :
Poly ethnic rights
2TVE 28 SrEnen

1. %
Self government rights
- 535-:553 (g0 e
Special representation rights
(B358 [@ray So¥en
3. %
Multicultural rights
L 250 Fol) )88 e

Question Number : 125 Question Id : 8732655562 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Whose view 1s that “Political Science 1s Science of State”?
DB L Eraho (BerdEn “oreds B0Rdw orerR8 DowofodS Qo

Options :
R.G.Gettel

- ©5.2.38S
Seeley

, % B

about:blank 79/96
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H.J.Laski
TE.E.

3. %
David Easton
GDE &$S

4 %

Question Number : 126 Question Id : 8732655563 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The original Indian constitution was hand written by whom among the
following.
Bod RE° 7788 Tregoll VBB BFEE° v F°05%?

Options :

Vijayalaxmi Pandit

Dacheof) Dobe

1. ®
Prem Behari Narian Raizada
(2%.0588 soeah S B

2. ¢
Dr. B.R. Ambedkar
&= 9. 85. 00585

3. %
More than one of the above
288 3% aé:;a’:

4. %

Question Number : 127 Question Id : 8732655564 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 80/96
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Which of the following is the first step in the process of policy
formulation.

DTS BrIEeS (BEAHES oty BB Vi D6?
Options :

Making the policy decisions
Drd K}gcﬁrw 5085540

Planning of Policy Implementation
Dl v Jonododd (Perdd B8 Iohse

2. %
Generation and evaluation of policy options

- DEd a:&gsﬂrué: "pﬁej%oéﬁo 08cd0 3')35‘@50&}55'}:3 Da%hEo
Analysis of the existing situations.
B8 BoRSeH dFnoBto.

4.

Question Number : 128 Question Id : 8732655565 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Eight Principles of the Behavioral approach of political science 1is
generally known as

oed8 (s’ (B Sedome HEP0 B Jox0dodS 8 Jre@rw
oo o VBEnm é&ﬁa%oiﬂe:m;m.

Options :
Regularities
(Boads

1 ® ¢

about:blank 81/96
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Pure Science

el F(Pew
2. % -

Verifications
. ée)éézﬁea

Intellectual foundations

L D&t QooPIR DI

Question Number : 129 Question Id : 8732655566 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“Credo of Relavance™ signaled

BYEn o) DHEVHS B8 =8 Edod.
Options :
Modernism
©dE8n

Behaviouralism
B8z Dodomrardshn

Post-Behavioralisms

85 - DTrD8D=Ew
3¢ 8

Rationalism
) SEviletore)

4. %

Question Number : 130 Question Id : 8732655567 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 82/96
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In a federation federating units desire their power from.
gy DTEdEnS” KPRy Darmren 3R Kol ©EsEEnK SrodiEran.

Options :

The constitution

Teesgoiian
1. v
Legislature
TR 2
2. %
Judiciary
Lot
| oy
3. %
Executive
L w SERTERE B850
Economics
Section Id : 873265186
Section Number : 7
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265223
Question Shuffling Allowed : Yes

Question Number : 131 Question Id : 8732655568 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following cost curve is not U-shaped curve?

& (8od %Cﬁ;ﬂ&pﬂéﬁ U-es5080 =09 a’aécﬁaéq: 8?

about:blank 83/96
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Options :

AC Curve

SHhew %aﬁ:ﬂm
1. #

MC Curve

aarod E%dﬁaésp

AFC Curve
Hew 3@:«&5 %cﬁ:ﬂa:

AVC Curve
Den 3B éédﬁ:ﬁa}

Question Number : 132 Question Id : 8732655569 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In a four sector economy, which of the following equation explains the
measurement of National Income.

a0t Boidoen ¥R af) Egé a’:ééééﬁ, & (808 Ho¥8ndn rhch vorab
B0 DRBoHR.

Options :
Y =G+ +GFH (X —~M)

1.9

¥ =014 TE X~ M

2. %

Y=ErI1G6-X+tM

about:blank 84/96
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Y=C+I+G+T

Question Number : 133 Question Id : 8732655570 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to Harrod R.F., Warranted Growth i1s .
©8.25. 3788 @%éé_&ﬁ: 980D, TBoBE Ho wlm

Options :
Full Employment Growth Rate
ﬁc?'.g?g = 556 a’:e)% Béw

] %
Inclusive Growth
. S0 $)8 B
Equilibrium Growth Rate
v éa"wE“ﬂé ée;% Bew

Under Employment Equilibrium Growth Rate
S5 éﬁ%ﬁaﬂ ST éa% Béw.

Question Number : 134 Question Id : 8732655571 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following mstitutions are called as Brettonwood sisters?
BeSHE) Phdrenrr & Bod Sogeih HOIEE?

Options :

UNDP and UNESCO

0. DR 8.2 £8akn a3

1. #

about:blank 85/96
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IDA and ADB

IMF and ADB

3. %

IMF and IBRD

0.00.09 08w 0.9.5.8

4.

Question Number : 135 Question Id : 8732655572 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Goods and services Tax was implemented in India since.
erBSB LS50S’ 5@%}5’:&: EESSS D 3d%0d vden BahEo 228R0H.

Options :

1 January, 2017
1 X528 2017

1. ®
1 April, 2017
1 9@ 2017
2. ®
1 July, 2017
1 23 2017
3.
1 October, 2017
1 ©8%25 2017
4. % =

Question Number : 136 Question Id : 8732655573 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank

. B.6.0 Bd 2.6.8

0. 0. 0D HOA» 2.84.5

about:blank

86/96
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The per capita Gross Domestic Product of India (at current price) in
2021-22 was around.
T8 BE S08 Sro TR (HR o (Bdo 2021-22 § JodHoR8
o
Options :
Rs. 1.40 Lakhs
1.40 o8 Srarchen

Rs. 2.17 Lakhs

- 2.17 ofp Srarchen
Rs. 1.92 Lakhs

- 1.92 oo Srardhen
Rs. 1.71 Lakhs
1.71 oo Srarchen

4.

Question Number : 137 Question Id : 8732655574 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The correlation coefficient lies between the values of
JTK0on0y Heatan ek & (Bod Dendden a’:aég} Sotnod.
Options :
0 to +1
0 %00é& +1

0l to 10
01 %0& 10

about:blank 87/96
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-1to 0
-1 %08 0

-1 to +1
-1 %0& +1

4.

Question Number : 138 Question Id : 8732655575 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“An mquiry into the Nature and causes of the wealth of Nations” Book

written by

‘Bare Hodd R Segrao Hedn Fdrre 2 T8’ O3 DI BSond.

Options :

P.A. Samuelson

2:.6).6“6’):525555
1 #®
J.M. Keynes
E.&JS:.&EJ
2. %
Adam Smith
BE ?oée'i
3.
Alfred Marshall
SHE Sr8S
4. % =5 G

Question Number : 139 Question Id : 8732655576 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank

about:blank

88/96
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An mcrease of Rs.100 crore 1 mvestment leads to rise of Rs.500 crore
in National Income the value of multiplier.
ep2é 100 Een 20 ©& >8R vrrabod® 500 Sy Db Beh Tody,
Hesan Deod wos?

Options :

L

1.¢

10
15

0.20

Question Number : 140 Question Id : 8732655577 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The curve that shows the relationship between inequality and growth 1s
known as
@ﬁ&’)ﬁ&ﬂé& 2085w éa%ﬂ E-ﬁ::@ JFdonodod 39 5[{53&3

Options :

Indifference curve

amrdd ¥ty

Demand curve
&&rol S(¥0

Kuznets curve

%238 H(E0w

about:blank 89/96
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Lorenz curve
B0 HEdp

4. ®

Question Number : 141 Question Id : 8732655578 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The major impact of Globalization on Indian Economy is
8 ¥ ©8E LNLHD R o8EAS By dogrRod (Harso
Options :
Stabilization in Balance of Payments
2B8 BY) ©F Do)

1. ®
Reduction in the Poverty but increase in the economic disparities
. 288%08° Sihde = ©8% LIPS0’ DEIHES
2. ¢
Steep rise in the export of textile goods
B8E\8S $hHe Jhddhen grbmr DKL
3. %
Sustainable increase in the industrial growth
BLpEEAS oY ©deE DS
4. % i

Question Number : 142 Question Id : 8732655579 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Micro Economucs is also known as
a’i:;a: @g TR0 s 0 o beoard.
Options :
Employment theory
65%&6 R:«?:goé&'):a

1. ®

about:blank 90/96
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Income theory

BT JTPosan
2. @
Price theory
d¥e rrodamn
3.¥ i
Output theory
\ adha o i‘:n;oééaa

Question Number : 143 Question Id : 8732655580 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is equal to disposable income?
Bod TRS° 28 Bchl¥ srrabhindd Skro.
Options :
Personal income less direct taxes
55888 wmrcdhin $od (BEE Sk S23chm

1. ¢

Personal income plus subsidies
$858 emradhindd Supdes Swdm

2. ®

Personal income less indirect taxes

808 smrahin Kod a’asﬁé SR &au3c%hmr
3. %

Personal income less subsidies.

5868 worahdn Kol ‘éﬁbéw &3 chme
4, %

Question Number : 144 Question Id : 8732655581 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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6/13/24, 11:25 AM about:blank

According to Rostow. how many stages are there in the path of

development.
A wh

Ssﬁj B==do, w885 HPEnE® AR E¥en dmow?

Options :

Six stages
o Sdw

Five stages
2t S¥en

Seven stages
N B¥en

Four Stages
et Sden

Question Number : 145 Question Id : 8732655582 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following was one of the main objective of India’s Fourth
Five year plan?

Bod o08° 26 ol DobY, (HertE SogyRd oges® 2,487

Options :

Garibi Hatao
K89 Hoost

Growth with stability
Poddd @%
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Food work and productivity
D08 w80 Hddkn aoEEs

3. ®

Growth with social justice and equality
Fhr2d Taho Hbcks JXr8s8° L85 1

4. %

Question Number : 146 Question Id : 8732655583 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following was announced under Atmanirbhar Bharat
Package for Micro, Small and Medium Enterprises.

Sg), %) DBckn iy SBKS DowbRED Y v s sed 8ol
DEBoS08K8.
Options :
Champions Portal

ToRhS) BYS
1.+ o

Vijiyibhava Portal
Dazoaredssd @595

Udhyan Portal
awyd %S

Bharat Portal
opteti] g:;sgg

Question Number : 147 Question Id : 8732655584 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 93/96



6/13/24, 11:25 AM about:blank

Coefficient of Vanation=10. Arithmetic mean = 50. the wvalue of
standard dewviation 1s

QbR Heeso = 10, wosSbo = 50 Lond ([EHddedo dwd dos?

Options :

60

Question Number : 148 Question Id : 8732655585 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The word ‘Micro’ was first used in Economics by
‘DE> o St Inde o8 FRES® DS adIBrhomdd?

Options :
Keynes
&35

1. ® )

Ragnar Frisch

- o5 DR
J R .Hicks
- 2.96.5°5)

about:blank 94/96



6/13/24, 11:25 AM about:blank

Marshall
Sr8S

4. %

Question Number : 149 Question Id : 8732655586 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The term ‘Regression’ was introduced by
D8 Kdobdn’ ob Dok 5% H8dcho Brd?

Options :
R.A . Fisher
- ©5.0.235

Sir. Francis Galton
88.(FRR rgS

2.¥

Karl Pearson
528 HADBS

Bowley
S

Question Number : 150 Question Id : 8732655587 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fiscal Policy can be used to
E% Dprddndd (Bod TIE° BN VaboBohwd adBrANE?

Options :
Control unemployment
363555:1“5& Rodo(BobEo

1. %
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Control Interest rate
$aBend dohoBosto

2. %
Control Exchange rate
. S8 Bes dabholBoSto
3,
Control Inflation
@5555%5?%‘ Rodo|BobsEo
4.
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